





RELEZHTE
B T

Bt—m HFah

R REZ R, AL B H IR i,
B LB — I R P TR0 , — 0%
ST S M, — BT B RMS B  T T
MR8 52, ST (T 1 MRS (0 , RPN R0 LG SR
UL T R , —RE B A+, (4% AR
FALRBR N, AR LA, AR
IREERRAI A, K 218, TT fE %), S Sqm R, AL, A
P A 1R IR, SR MBI LTS RS EE
B,
I ZEkE 7T LI B IRE4T 200

(1) BERHE SR BRI 20, B2 B0 2 (Novelty) 1,

TiRE, W 0, R MIEL R (Contrast) @2 5

AL RBM AL,

s B Y. P R Y I




ﬁﬁﬁﬂZﬁF% & T

@)?%&%%ﬁ%%ﬁﬁi%ﬁ”,%%mﬁﬁﬁ
HIRFAD, B—PTRET B, R A S
o TR R, B e S R T B 4
BT L. b i, B L 2 R 0 2P 2 A7,
BORES, BB 35, 57 LA F R4 R AR
1 L T — LA, ORI, AR A
fma@afz-m JRGMASERRENLT, B
SR, TR R R ¢ RS —
RTINS, PRI LB, TR S b e R R 2
B 32 1 SR R B ARG — - B8, LB AT
1 0T, WA — AR EER L RENR
1 G RIERN , — TR AR MR RES
R, T LR A, TP S A AR SR
g RARLERRRTANTE, RESREN |
TR AT, |

L IR

(D) SREMUELAR AR , To R BRI 8
o Rty , BWFEGLIIR  (Kirkpatrick) 7 i B




%"“"ﬁ ﬂﬁ':ﬂ' 3

“Fundamentals of Child Study ¥} A5 —ByR15 1R

W, T LRI — B R L Al , ik B
REFAATELIET , Mk SR feA BT
PR R R R (A, (0 REE—RRERE, ME

S A 5ok o T Py 4 2 T3 I £ B 12 [0 2

TR ? 2518 T — A RME LML T, 52
HRATR YA 2 %, WS T, b5

E T RS R B A B (Use) [P REREMUR?

% [RBBEREEHUE (How and why) |7 4R
20 R R [ R P A A s 2
R, R B MU A, ik “Why Question” [
F1E AR AR S22, B B R B A RSB A B, Bl O (R
S LR ACKS T UL T AL B A R A B —
T T A LR 7T B ISR I M SR 0E? el
TRRERE, MR BRI 4T, MR =%, A
i — T8 T B A R B B A\ P 2 R Keep still” [}%
Bk, | ud
REZETR A B T, R LR E R, B




r_.

4 S ELCHEBZHE BT

e PN R AN VNIV NV AN N

AV VIVIVIV A I A N P NN,

LA BRIRE e, fl B R BAE OB /AR A SR, R ER
DI B PR N B, B T+ Z=aR A%,
WIELERAE JAERAE , 2K (Puzzles) it A0, A5 e BIRA 5% Pk
RMELRIR RIS T,

HERE A S — R, B RS B RE IR Ay e, 4R
ZAEL e SLER Z P, B AA R ASTE G, A1A

AR i,
IIT Smith gl Hall gl

Fisei g ik
Sith-Flall {1l 2[5 25 72 (Questionnaive) FF52 5 5
SEZD0 BB, A P A 1895 4EE T — R, JLp A 2r
S5 BT TGS 0 P S Ak 7 53 S0 e R )
FVAL RESE , S50 MO T BRI Lo B AT S 7 5
AR 2 A 1 24T 1, BUAERRA 7 I 0 -5 14 3 i
1 B 530 7 MEL A By P2 o L o 1 e e
T
2 BR R 2R By R AW 3= BBl £ (Active observation)
o 4§25 PRt ER (Experiment) .2 jA F:




%@5+~:‘=’$i LS V) 5

APNA AL TN W N e et e At o S e e S e S N N N S S S NS

3 ﬁ-ﬂibﬁﬁﬂ’]kf—r %Bﬁ@%%%ﬂ@? inlwliogea
B HE,
4 a4,
B SR FRATIIANE SRR MRAT B e 2 PR
AT AN
BRZeass st BN 1247 MER KR LB s
AE S A T I

@ FAEE T B v eeeermesensennns 16344
16348
Eﬁf/\ﬂ BB oo oo e = 21.73%
D LR ecersnenens s T84 = 6,25
R L PR ATT4E = 38,25
4 %jj;é 6944 = 5.62
e e 35214 _
5 BREBAIFT a7 23.38
C 251
1 IEE’YE%EE/R

5 i1, 202 10, S BB - B
5, 300 A L8 S B R IR, fs kiR SRR




6

NS NN S NI NENSNT NN TN et NN NI LS NI N A L it s

RBLCEZHRE % T

A

FEENRE,
H i, 51 A BEEEIR B8,
B AR S MBI AT MR — e i 2k,
55K HIRERIRAS X,
23K MRS RRRE Bk iR,

SR IR IR, A A IRER 5 B T
BO3K: UM ARRE BElsE A RS
IR AR B8, 3% 0 TR M #, i
RO, BAU T2 B, A B, @k LA U R,
B Shiyiss
A BER KRR AT, S A2,
LR &, AN A, NI s R AT,
55w Al R AL N WIRRE, LR IR B i, i
RIS 3, 3% 52 e ),
B 1 gk FLIRPIT B AR AT 485 s s, fi 4
LHERQWER MEKEES,
H 817 17) S Bk A AR B4 4 B S Bbk 1 1 2
ren Bl 60 06 T 0, A sk RIS 3R B LR R )Y, A




Wt —® A D 7

BRSPS S I NN N TN A NN N A AN A A

A N A A N N

L ———
AEAT Mook [ B T2 AT - A S P 4, A
P2PONR AT W R A AR T U A S B 2 B,

3 ik

P ARLAA A o T — AR B, = B S — oK, DL i
BAET,

Ler 6 3 s T SR N SR I AR AR TS,
10 5 % 45 K E ST AR AL SR AR 4, TR
Al R A e,

F5EE: TR O B B, S LTS
P BLEA (R B 2 Jh B L,

4 BT
i1 3 B A I & Bk VE R S A
Hofe A2 IR
LT T AR AT R A IR T
5 6RE I AR B B L PR IR
1 G U RE R RS s T T

5 WA




b 3 Emtﬁ‘ﬂzmﬁ £ T

e A A A A A A A A e AL NN

P 133%: Hufb Eﬂﬁ*ﬁ%ﬁi@ﬂ’?ﬁtﬂkﬁﬁﬂ

S Er Y

Fideg: 1 —SaRIRR T, KR

BRLA,

HHdRg: mfm%ﬁﬁﬂﬁﬁﬁﬂﬁﬁiﬁ%ﬂﬁ =g
RESHAE K,

FIWI6RE: WTHi—% HMBMH, KALITE mBmee

IRk,

T8k M— LR ABNEEE, amTme §

Dt BIRAE S 8435, |
I BZAFRPOBAZE

| SLELRAT AR AT VE? PAHBERPE? ke

- IRSR G, RJRRy 5 o, S0 ST EE AA4F G, Sk, S5, A R A
&, SRR DD, AL B RA R A R S
e, A I IE, BRI AR ER, A REfR iy, Rt
WIPTFEE FLERAT RO, BMIBFTE BUAE 7T 45 — B 3%, 0%
FRFHRRE HE R, & 2R R, 2154
el 5] 35, B 7038 18 B S 1



Bk — % E AL 9

P VIV I I et P it e ek et S it St et N Sl ) St S AN N Sl AT P S

BRI GEL B Smith Al Hall =R
SHZEAh, HARE ER R, B MDA e, AL o B,
AT s s SR A |

SATERAIIAIAY, BRI SR ITEE ] S fr & AR, (D0
A TR A B

- R AT , AN F R AL R A
SR R IR SR BT, B o R,

IR B mmrﬁﬁ@smr i1, NLREE A; E
R BB, B3 e Lo B — 2, T LA R 5
AR T B A i 22 SR, A%A%?mﬁﬁ}éiﬁi@]/\%ﬂ'ﬂ
EEI” i, ABELLAMI S, 2 W SE TR E R I

S, 1 FLEHR SR SRR, Bk D4R,

,W'baﬁmgfc_ 5 S AR B MR T I L 2
He Lok B L L BRI S0 e SR e PR, 78 =0k
1|k i T2 B A0E  BLR S AT I 2, L0 LT,
TR AT T T AW, 25 B PR ARIBSE , JEB TR
A,

BroE b




10 RELBZMR $ T

e e %2 2 S 2 L VSN P N O NN e

BRI AR NS R TR T OB 0 R B AT DO IR

5%, BUEIR OB BT BRZE I S5 AT 3, J6 R B
SE LB T P CIRIE T, TP R4 8, R LU
TEBAMA; RS 8 T DA LR E— A
LIRS, AR R, RIS BT BT
WP TR, ML L5 SRR 5, AR e, 7 L Tk PR
& lE—#E,

MRS, , TR T b 2 79 ") %0 25 100 B 7 25
(Intelligence Tests) AT, C 5w (Intelligence
Quotient) ¥y £eflr iy, B2 — T F, A 8 — =, Ui
PR S T 3 T, S A T BT 1, L e, B
SEAFBEATI LA D05, H3h 4R, 26 MBES TR,
1% N AT W2 XA, M FEZS 0 3 S5 7, B
SRR, S8 365 1A TS 5, JLTERER, T vk,
R, B AL BN U0, ST A R T

Broemi i vk

e PTBREI )5 5, B T AR, S E T TR 2

ik, B MRS AL, R W, TR G,



mt -8 F AL 11

P D A N g

I H IUEFRT MR sk T 2R, —diEsk T 2
K, B R sk WA = A, RIS sk
75 SRR —R K T — A& QT AP R —1,
T bR AL AT RS F 2 B 22 b, T AT 1 A2 T
AE 5 1, Al — Ak, Bk T B C AT T 2k i 3 n)
il — e ag 1 PR A A — B PR A TEE TR A, 3R
FRHBATT AT AR 5 R 2, L MIAS ), B — B AV, 3,
AT FRFRRE 5 78 o fl P 3k, et A Al A 0 v, 28 A
AT, AW PT 88, S22 5T B 288, A 1 rp AT —&)
S b A% AT I, SR 25 Bk i, FRACALTIFT R g1
FEE T 2, AL MR w3 [ /MA, IRES & ATB T B
WE?) Tkt A% iR A &M, BT L] T 22K, LML
25 WA T, MM F: R KRR BIRek MR a5
B4 M3k ey, B 35 A I B AT, LB MR TRl e g1, 3k
BRI, Tk — S B AR A, LR ASREE W, BB M A )
A BRI BB, SR A PRI P D A AT » AR IR S e
I E,
EER[0EAS 46




iz KELCBZHRE £ T

INUNON T N T U NN N

5&@‘?— ﬂm’f im»ﬁﬁiéEZ;E ?k %@CE%&U&R
£, 15‘131[15*1&5‘;@33%1 A — K, C R BRI H
HUSL2 AHER T BB — R4, LIS ER 2 RIMMIZ ofes -
LRA,BEINT ZH=1 A4, ZREMT—H 1L
RIIESE AP 5L —2F,

T T RN ER A IR AN 2 KK — s,

(Number of GQuestions) R AT R S

H gk C H e <
1 21 31 15 13 1
2 7 16 15 3
3 2 2 17 7 5
4 26 10 18 7 2
5 10 7 19 1 3
6 9 4 20 13 2
7 14 9 21 3 0
8 12 6 22 11 &
9 7 3 23 4
10 16 2 24 0



11 8 4 25 4 9
19 5 1 26 1
13 9 4 27 5 1
14 11 4

R = 2384

. =119144y

KA = 357[HM]
WA — I B, A A H A2 A AL B D,
N B RRE R VE? Al ks RARATAE B R E 2 88
Bl %, A A g a S T v Al M2
i35 A e LK e, UL B — s A R R S B8
PR s ol 0 2528 B8, 7 e [ A 1) 2 UK BB, TR I )
A2 B RS, AN ) BRI TR AT IR 5L e T s )
2 WM = ARMAE—HR — R 45, R — 5 L R
Rt AR, o] DL— 22 1], — D I WE? 2 J0 IR 55 4o s

WOIE? S ERAAEL 3, 2 75 KR 5o B 4 1 pia Al W

0T MASHELER, P il 2K, O R BR Wi I L B i
AR RBERADT 2 S TR B N s A A P AR T s AR W R AR

Al




14 RECHEZIHRE BT

W R M R B R A&
REATOT AR, 7 R e R0 S P B 5 T s W R
BTS2 R | [ 5 2 £ 8 6 ) EhR ) [ S8 e
| BB E TN BRE SR,

[l PR 3%

BR FR ZR EVN YRESE ZREAE EE4K
R —ZM AR =k HEZAA A T— BHoHAS

B Al —hA XE =H.AE —FH.EO — =
& = Ok =— —— AN OFE.EA ~.OA
MY ==K —=— —0.~0 —0-—0

SR T A 0, R TT 20 % = T £ B T B A L £ I |
R IR Ao [ 2 (R R G ? | (ARl £ 4% <2 )R
TR AT B A ; T AR BR AR AT BESE R VB D TR A% fH BE AR W AR
WE? 18 PR AR AT B I PR g s A5 G A A s 7, A )
S 18 SR G % 1 sy, 1) - S) B S o 1 R S Er i 4B
B, | SLEE fth— S BSR4 s AP B B, T LA e B L e

W, MEREEMREER IR PRARABKHESR

W22 I e S T R A RS B S



Bt+t—% 5 &L 15

PN N N

N

RE DR (BB E , E—-ERITERT Y
BT R B G E T,

IR B A BT A A S B OBIURY | 33 5000 o,
R OB AT (e ) [y Bk & m?]
[ 2k e A7 )5 A, R B A &5 = v e T
TR R R I R R R ASE
— BT A B 5 TR B O B gk (Kirkpatrick) £54ly i
fﬁafﬁfﬁmﬁﬁéij (Fundamentals of Child Study) £%%
S AU SRR ATEAT AR LR, i S L, enFess R
TS, PR T B (R 5 (R R — TR A, R
YA 37 466 PR S M D s ), T N2 o BB ) TSR
BE?) 4050 T — A B R, IR T, SRR RS R
WIS 2 A%, A B s T, A BRAE RS I (3
BT ) T ARt ? | BB T AR (e BRI ) (/8
R a4 , FECREEEAE T ) SUETE 2= DU R
ERGrATIHE s =

T —BeE R, R R AT, A BRI
BT [T, B2 A R, S IR BT SE B, AR &




